
Revised 05/22



October, 2013



To the Owner/Operator/Dealer

All implements with moving parts are potentially hazardous. There is no substitute for a cautious, safe-minded
operator who recognizes the potential hazards and follows reasonable safety practices. The manufacturer has
designed this implement to be used with all its safety equipment properly attached to minimize the chance of
accidents.

BEFORE YOU START! Read the safety messages on the implement and shown in your manual. Observe the rules
of safety and common sense!

WARRANTY INFORMATION:
Read and understand the complete Warranty Statement found in this Manual. Fill out the Warranty RegistrationForm in 
full and return it to within 30 Days. Make certain the Serial Number of the Machine is recorded on theWarranty Card and 
on the Warranty Form that you retain.



October, 2013

LIMITED WARRANTY

Bush Hog warrants to the original purchaser of any new Bush Hog equipment, purchased from an authorized Bush
Hog dealer, that the equipment be free from defects in material and workmanship for a period of one (1) year for
non-commercial, state and municipalities’ use and ninety (90) days for commercial use from date of retail sale. The
obligation of Bush Hog to the purchaser under this warranty is limited to the repair or replacement of defective
parts.

Replacement or repair parts installed in the equipment covered by this limited warranty are warranted for ninety
(90) days from the date of purchase of such part or to the expiration of the applicable new equipment warranty
period, whichever occurs later. Warranted parts shall be provided at no cost to the user at an authorized Bush Hog
dealer during regular working hours. Bush Hog reserves the right to inspect any equipment or parts which are
claimed to have been defective in material or workmanship.

DISCLAIMER OF IMPLIED WARRANTIES & CONSEQUENTIAL DAMAGES
Bush Hog’s obligation under this limited warranty, to the extent allowed by law, is in lieu of all warranties, implied or
expressed, INCLUDING IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR
PURPOSE and any liability for incidental and consequential damages with respect to the sale or use of the items
warranted. Such incidental and consequential damages shall include but not be limited to: transportation charges
other than normal freight charges; cost of installation other than cost approved by Bush Hog; duty; taxes; charges
for normal service or adjustment; loss of crops or any other loss of income; rental of substitute equipment,
expenses due to loss, damage, detention or delay in the delivery of equipment or parts resulting from acts beyond
the control of Bush Hog.

THIS LIMITED WARRANTY SHALL NOT APPLY:
1. To vendor items which carry their own warranties, such as engines, tires, and tubes.

2. If the unit has been subjected to misapplication, abuse, misuse, negligence, fire or other accident.

3. If parts not made or supplied by Bush Hog have been used in connection with the unit, if, in the sole judgement
of Bush Hog such use affects its performance, stability or reliability.

4. If the unit has been altered or repaired outside of an authorized Bush Hog dealership in a manner which, in the
sole judgement of Bush Hog, affects its performance, stability or reliability.

5. To normal maintenance service and normal replacement items such as gearbox lubricant, hydraulic fluid, worn
blades, or to normal deterioration of such things as belts and exterior finish due to use or exposure.

6. To expendable or wear items such as teeth, chains, sprockets, belts, springs and any other items that in the
company’s sole judgement is a wear item.

NO EMPLOYEE OR REPRESENTATIVE OF BUSH HOG IS AUTHORIZED TO CHANGE THIS LIMITED
WARRANTY IN ANY WAY OR GRANT ANY OTHER WARRANTY UNLESS SUCH CHANGE IS MADE IN
WRITING AND SIGNED BY BUSH HOG’S SERVICE MANAGER, 2501 GRIFFIN AVE., SELMA, ALABAMA
36703.

Record the model number, serial number and date

purchased. This information will be helpful to your

dealer if parts or service are required.

MAKE CERTAIN THE WARRANTY

HAS BEEN FILED WITH BUSH HOG

SELMA, ALABAMA

MODEL NUMBER ________________________________

SERIAL NUMBER ________________________________

DATE OF RETAIL SALE ___________________________



October, 2013

TABLE OF CONTENTS

LAYOFF PLOW

LP

COMPONENT LOCATION

Decals - Safety & Marking .............................................................................................33-1-1

Frame & Related Parts ..................................................................................................33-1-2

SMV Placard..................................................................................................................33-1-3



33-1-1

LAYOFF PLOW

LP

SAFETY AND MARKING DECALS

REF. PART DESCRIPTION QTY.

NO. NO. REQ’D.

1 00725746 Pelegro Decal 1

2 50072455 Model Decal, LP 1

3 50083387 Bush Hog Decal 1

4 50057097 Caution Decal 1

5 90960BH Warning Decal 1

6 N/A Serial No. Decal 1

May, 2022



33-1-2

May, 2022

LAYOFF PLOW

LP

FRAMES AND RELATED PARTS

REF. PART DESCRIPTION QTY.

NO. NO. REQ’D.

1 63765 Lift Pin Assy. Cat. 1 2

2 44625 Capscrew 5/8” x 4-1/2” Gr.5 1

3 45020BH Hex Locknut 5/8” 1

4 44624BH Locknut 3/8” 2

5 5161234 Carriage Bolt 3/8” x 3-1/2” Gr.5 2

6 50072497 Frame Weldment 1

7 50072496 Furrow Point 1

8 50071918 Bushing 1

9 00725746 Decal, Pelegro 1

10 50072455 Model Decal, LP 1

11 N/A Serial No. Decal 1

12 50083387 Bush Hog logo Decal 1

13 50057097 Caution Decal 1

14 90960BH Warning Decal 1



33-1-3

ROW CROP CULTIVATOR

1RCV ROW CROP CULTIVATOR

SMV PLACARD AND RELATED PARTS

Ref. Part Description Qty.

No. No. Req’d.

1 94359 SMV Placard 1

2 2438621 Mount Bracket 1

3 20009 Capscrew 1/4” x 1/2” 2

4 45153 Locknut 1/4” 2

5 5161012 Carriage Bolt 5/16” x 1-1/4” 2

6 45155BH Locknut 5/16” 2

October, 2013






